TRU-BILT®

TRU-GARD™

CERTIFIED BARRIER

INSTALLATION & OWNERS MANUAL

PROJECT/CLIENT: SO No:

CHECKED BY: DATE: / /

COMMISIONED BY: DATE: / /

o ' =~
. Tru-Gard™ making workplaces safer




I{BI

e When receiving goods on site, please check all packages immediately for damage or
repackaged goods that may have been damaged during shipping.
e Any damage must be reported to Tru-Bilt Industries Ltd within 24 hours of receiving

product.

TRU-BILT®

INDUSTRIES

New Zealand: 0800 144 999
Australia: 1800 144 888
Website: www.tru-gard.com


http://www.tru-gard.com/

Contents

SafEty WarNINGS ..ottt et et 3
Installation TOOLS @Nd NOTES ...t ene e 4
INStallation INSTFUCTIONS ...ttt et s n e 5-6
Related ProdUCES ... ettt et 7
A = L =101 4 AT P PR SORR PP 8

Preface

e The installation of Tru-Gard™ Certified Barrier is for experienced installers only and
this manual must be followed carefully.

e All warnings and safety precautions must be followed at all times.

e A selection of hand and power tools will be required depending on the type of fixing
available.

e Tru-Bilt Industries Ltd reserves the right to change product design and specifications
without notice.

A\ Safety Warning AN

e All necessary safety precautions must be carried out to ensure a safe working
environment for yourself and those around you.

e WARNING! - Failure to follow precautions in this manual
may result in severe personal injury or death.



N
Enj TRU-GARD™ CERTIFIED BARRIER INSTALLATION & OWNERS MANUAL

Tru-Gard™ Barrier - tools and notes

Tru-Gard™ Barrier System must be installed as shown in the drawings below to ensure the
barrier will be effective to its full potential.

When installed according to the full instructions in this manual, the barrier system is designed
to stop a total mass of 4 metric tonnes moving at a speed of 3.5kmph, at 90° to the barrier. The
barrier system is designed to stop the chassis and main body of the fork truck only. Depending
on fork truck attachments and loads, an extra safety distance from the barrier may be
advisable.

Each barrier support post must be bolted to the concrete with four M10 x 100mm galvanised
screw bolts, as supplied. Each barrier end post must be bolted to the concrete with six M10 x
100mm galvanised screw bolts, as supplied. Barrier rails must be bolted to support posts and
end caps with M16 x 3bmm flange bolts and nuts; and bolted to the end posts with M16 x
100mm galvanised coach bolts, nuts and heavy washers, as supplied.

See full installation instructions on pages 5 and 6 for certified installation.

Note: If the barrier system requires rails to be trimmed, ensure the ends are filed smooth and
painted afterward to protect against corrosion.




Installation Instructions

Step 1

e Use a string line to mark the front edge of posts. For 2400mmL Barrier there will be
three support posts per barrier length, including end posts for the start and finish of the
barrier run. We also offer a 1200mmL Barrier to be used at end of barrier run where a

shorter barrier length may be needed. Please refer to the 1200mmL barrier centre post
note on page 6.

End P05t9¥

H B E § = B
String line_/4

Support posts

Step 2

e Fix barrier rails to the top of the first three posts. Tighten the bolts to finger-tight only,
ensuring they sit in the centre of the slots in the barrier panel.

Bolt head to be in the N
centre of panel slot

Step 3

e Use a level to ensure each post is vertical and sitting straight on both front and side.
Use shims if needed, to ensure the posts are fully vertical.

Check posts front and side with a level

i - -




Step 4

fitting lower barrier rails (if applicable).

Step 5

When each post is level, drill fixing holes into the concrete. Fix the screw bolts about
two-thirds of the way into the concrete, leaving loose to allow small adjustments when

Repeat the process until the barrier run is completed. Remember to use an end post
with six screw bolts in the foot at the end of the run. Attach any lower barrier panels.

Fully tighten all post screw bolts and all barrier panel bolts.

BARRIER OVERLAP= 200 o

BARRIER LENGTH= 2400

2400

Y

i

A Tl B

107 . 5

1100 e 1100

1100 1100

[ o o

NB: The diagrams on this page show 2400mmL
Barrier length.

1200mmL Barrier is installed with two posts per
barrier length at 1000mm centres.

BR240
BARRIER

% BS910
BARRIER POST

BS910-E
BARRIER END POST

M10x100 POWERS
BLUE TIP SCREWBOLTS

BS610-E/910- EPOST —_|
BR240 BARRIER

NUT ON THE

M16 x 100
BARRIER SIDE

GALV COACH BOLT

\

Fix coach bolts to end posts as
shown above



TRU-GARD™ CERTIFIED BARRIER INSTALLATION & OWNERS MANUAL EBI

Related Products

Tru-Gard™ Hand Rail System

The Tru-Gard™ Hand Rail system can
mount on top of the Tru-Gard™ Barrier
system or stand on its own. ltis a
multi-purpose safety system designed
to prevent slips and other pedestrian
hazards.

See our separate instruction manual for
the installation of Tru-Gard™ Hand Rail.

Tru-Gard™ Personnel Gate

Allow pedestrians access through the barrier whilst
ensuring their personal safety with the Tru-Gard™
Personnel Gate.

See our separate instruction manual for the
installation of Tru-Gard™ Personnel Gates.



N
=)
10-Year Warranty

Tru-Bilt Industries Ltd warrants that your Tru-Gard™ Certified Barrier will be free from
defects in materials and workmanship under normal use for a period of ten years,
provided the purchaser installs, maintains and operates the Certified Barrier in
accordance with this owner’s manual. If a warranty issue should arise, a Warranty Claim
Form is available from Tru-Bilt and must be completed. Photos are also required to
support the claim. Travelling costs and labour are not claimable.

When a warranty claim is accepted, Tru-Bilt will repair or replace parts, or complete
products, whichever Tru-Bilt Industries Ltd deems suitable. Tru-Bilt Industries Ltd
retains the right to reject any warranty claim for failure or damage caused by improper
use or abuse.

Contact Tru-Bilt for your signed official warranty document: info(dtru-bilt.co.nz

TRU-BILT®

INDUSTRIES

New Zealand: 0800 144 999
Australia: 1800 144 888
Website: www.tru-gard.com

October 2021

TBI : B - ~ —
I\ ) W Tru-Gard™ making workplaces safer


http://www.tru-gard.com/
mailto:info@tru-bilt.co.nz

